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T -1/ PART -1

[3]

[A]

a1 g g fenss / CHILD DEVELOPMENT AND PEDAGOGY
R@sr : =i god] % Gav @7 & [T @@ fEd 4w g

Direction : Answer the following questions by selecting the most appropriate option.

1.

frifeed & & - MY B A M
gfa ® UF THR TeT & 7

(1) &idE gis

(2) HE g

(3) diiehe T TOHE i

4) TS s

frifed & | FI-91 FOH T 7@ 8 ?

(1) difEs e U ST Sfema
2N TN e 2 |

(2) A AT A am B IQ
iYad &1 & 709 F9 e 1Ry |

(3) dife® emar 18 v & g § W@
Bl 2 |

(4) Afsw owmar ud IR rerEan
2T & T STemd 2 |

SBISR & fad & iR o
e & AR, AT & HrEe
Fr=tifer & & fpe o3 4§ wifed & 7

(1) g&q o=
(2) Feq
(3) el a=
(4) T
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1.

3.

Which of the following is not a type of

intelligence as proposed by Gardener ?
(1) Musical Intelligence

(2) Linguistic Intelligence

(3) Logico-Mathematical Intelligence

(4) Creative Intelligence

Which of the following statement is not

correct ?

(1) Intellectual Disability and Learning
Disability are not same.

(2) A child with learning disability
essentially has an IQ score less
than 70.

(3) Intellectual Disability occurs before
age 18.

(4) Intellectual Disability and learning
Disability both are Developmental

Disability.

Which of the following system contains
Work Place' as the

Bronfenbrenner's Ecological Theory of

'Parents per

Development ?

(1) Micro System
(2) Macro System
(3) Meso System
(4) Exo System

P.T.O.



[A]

4. @ W o T # 39 AW d I
Ted 39% adle U JUfRAr I B 1 STl
g€ 3G & B AN W9 ff == &
e W U 31 2, 98 |iEhT BT
goN dde Afafafrel weRid &
2| 9= H FE FGER gaH e ©

(1) YA Td 3¢ gRT A
(2) T AT A
(3) fopa-ugd STgde &
(4) @HISTH AT H

5. fy=iifed & & IN-T FAT  THERY
foeerr 1 &= & daet § w2 7R 7
(1) 78 I & g @ ST 2|

(2) T& I & HEH B GHA B I
g et & 21

(3) & I FA/fpaeT @ e B R
e fo gEd & "erE & YU
T T Tehar ofiX 1 & Wad w9 q
W@ Y T 2|

(4) T& 3 FE H I=a Gmr o2 W
Ted Hhadgas @od w9 " H
Tl 2 |

6. [=ifhd & & H9-91 H9F T 7& & 7

(1) & ogdes UfEss @@eri 8

e 2 |

(2) FparuEd ofjde Ufsd @Eeri |
e 2 |

(3) I ITdET oifEEd @aRnl 9
e 2 |

@) Fraugd  ogEed H o 9Rem,
AT F T HewdqTl b ¢ |
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[4]

4. A mother gently strokes her infant's
forehead each time immediate before
breast feeding. Soon, she noticed that
each

time the baby's forehead is

stroked, he makes active sucking
movement. The baby's behaviour best
describes :

(1) Trial and Error learning

(2) Classical Conditioning

(3) Operant Conditioning

(4) Social Learning

5. Which of the following is not true about
"Zone of Proximal Development' ?

(1) Itisrelated to Vygotsky's Theory.

(2) It sets the upper limit on what the
child is capable to learn.

(3) It is a range of tasks that a learner
cannot perform without help of
others but yet cannot perform
independently.

(4) It is the upper limit of a task that a
learner can successfully perform
independently.

6. Which of the following statement is not
true ?

(1) Classical conditioning deals with
voluntary behaviours.

(2) Operant conditioning deals with
voluntary behaviours.

(3) Classical conditioning deals with
involuntary behaviours.

4) In
'consequences’ are

operant conditioning,
important in

framing an association.



7. W 4 RgQ-AM § @ ae W Y
PR foar o, Uy U o ST SHe
T 99 Al S o9 SH i faw}
W UF el a9 geT ) w3 % =9
TR a9 R HET S Gl B
(1) SE9H TR
(2) SEUw fa9es
(3) @a: gt
(4) fota=

8. f=ifed # A F9-9@1 ulkwr IS &
TSHRHS {9 @l U Ul 78 & ?

(1) afved
(2) SATHATIRTT

(3) STgHe
(4) QT

9. Wis 3 3 W " g @
BIemEg  (Triarchial) & & AR
Frifed & & #F-A1 §fs &1 06 TBR
T e ?

(1) fascioomeres gis
(2) FSHER E
(3) e gi=

@) AR gs

10. 7& FF ‘T A0 U g, § ger
gere T, kg & 8§ R SR @

Afcerar @1 R 2 FXar © 7 o

o=t = §ae -

(1) F&ar & HAfdehar & TR

(2) yd Eieardl Afcbar

(3) aTEIaaTS

(4) AR & H3 deg T B
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[5]

10.

[A]

Meeta has overcome her fear of toy-
snakes. However on one occasion her
fear returned when she found toy-snake
on her bed. Such return of fear can be
termed as :

(1) Stimulus Generalization

(2) Stimulus Discrimination

(3) Spontaneous Recovery

(4) Extinction

Which of the following is not a process
of Cognitive Development as given by
Piaget ?

(1) Assimilation

(2) Accommodation

(3) Adaptation

(4) Shaping

Which of the following type is not a
type of Intelligence, as given in

Sternberg's  Triarchial Theory of

successful intelligence ?
(1) Analytical Intelligence
(2) Creative Intelligence
(3) Musical Intelligence
(4) Practical Intelligence

The example 'you scratch my back and I
will scratch yours', indicates which type
of morality as given by Piaget ?

(1) Beginning of Morality of Co-
operation

2)
3)
4

Pre-conventional morality
Realism

Not related to moral concern

P.T.O.
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11.

12.

13.

14.

e & | diF-a1 el e 4
afed 787 & 7
(1) femo

(2) @d: gAmitd
(3) QT

(4) TEMF a9

AT I AT AR & T

(1) d9er f& =

2) forl )R

(3) o Tho X

(4) Sto dlo aredd

fFrifafead ® & -9 fased ammstieeT
P AT % ST F&T AN B 7

(1) aMiiSTs &7 § SFJHIET Haer &l
itexl

(2) AHISE B 8 TR HET
frate &

(3) @I AT @l b

(4) SACTDET HGET A SFIHIE

IE AHAT SN e & aRM A
IR F qd FRAT S &, IH F@l S
g

(1) IFTE STha
(2) TETCHE ST
(3) SNY=ie Tehel

(4) MeMHS SThde
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[6]

11.

12.

13.

14.

Which of the following is not related to

the classical conditioning experiment ?
(1) Extinction

(2) Spontaneous Recovery

(3) Shaping

(4) Stimulus Discrimination

'Autism' was first described by :
(1) Samuel Kirk

(2) Leo Kanner

(3) B.F. Skinner

(4) J. B. Watson

Out of the following alternative which
one is not comes under processes in

socialization ?

€]

Learning to behave in socially

approved way
2)
3)
“)

Playing approved social roles
Development of social attitudes

Approval of egocentric behaviour

The Assessment done during or before

instruction is known as :

(I) Summative Assessment
(2) Formative Assessment
(3) Formal Assessment

(4) Diagnostic Assessment



15.

16.

17.

18.

M s & Hetee A & e
% FPAN UF dh FE & e
H G H T & Sl ©

(1) GI&I T e §

(2) yd HiskarHsd e o

(3) Hol whkaTT e |

(4) ST Hibareme e J

e & ATAR, I TR/
e & S I B Hahd ©

(1) gd Wifesh Aferbar &1
(2) 99T b wfcrebe
(3) e Afcrewar &
(4) fcerar &1 dmfers

IR Ay [ F foey Aiem =1 g
F e 99 oo " Y T
F HX TR AW | g8 il H | Red
YRR G JRT B IR © 7

(1) 99T

(2) A+

(3) dTETCHIERRT

(4) feem=

Frfifed & @ @9-a1 oo Qg &
TR & 0% TER 7@ & 7

(1) AT T

(2) ga-
(3) aEm

(4) I TS
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15.

16.

17.

18.

[A]

In which of the following stage of
Cognitive Development, as described
by Jean Piaget, a child become capable

of understanding 'Conservation' ?
(1) Sensory Motor Stage

(2) Pre-operational Stage

(3) Concrete Operational Stage

(4) Formal Operational Stage

According to Kohlberg, Good Boy/Good

Girl orientation indicates :

(1) Pre conventional Morality
(2) Post conventional Morality
(3) Conventional Morality

(4) Relative Morality

Four year old Binny started wetting her
bed after her parents brings home a new
baby. Which of the following type

'defense mechanism' it is ?
(1) Regression

(2) Suppression

(3) Rationalization

(4) Displacement

Which of the following is not an

example of newborn 'reflexes’ ?
(1) Eye blink

(2) Sucking

(3) Swimming

(4) Driving Car

P.T.O.



[A]

19.

20.

21,

22,

gi& & ‘PR RSl (Three Stratum
Theory) & &1 L

(1) s & 3|
) o & 2|
(3) I B BN
(4) e & B

fr=iifhd & @ F9-T1 HUF GRS @
ST 8 & ded § HEl 7@ 2 7

(1) 98 ARa=F & 99 thea ad § Red
2T B |

(2) I8 ATHIOT Hael UihAst H FerEdr
XA 2|

(3) T W7 IEA H HE FCAT 2 |

@) & =& B FT T § HaE H |

I TF T AR gE ST W@ 2 1%
AN & IS4 & 91 IEA A {6, a
qE TART BT T R -

(1) ST & &

(2) sl s

(3) ufshaTHeS TfcT

(4) gREes: Hid &l

AedHE-gd & IR H freifed § 9
-1 HI e 7@ T 7

(1) I8 AFF-9d & T% TN & |

(2) T& ‘W@ = B’ (Make Believe
Play) & A9 & 91 ST STl 2 |

(3) ZAH Ul RN [l ¢ |
(4) T8 BHLM YASIIEH Bl & |

Level-2/3204

[8]

19.

20.

21,

22,

The 'Three

Intelligence was given by :

Stratum  Theory' of

(1) Piaget
(2) Binnet
(3) Carrol
(4) Cattle

Which of the following is rot true about

the Broca's area of brain ?
(1) Itis located in the left frontal lobe.
(2) It supports grammatical processing.

3) It is

production.

responsible for language

(4) It is responsible for comprehending

word meaning.

If a child is sharing with you what he
did after he got up in the morning, he is
using his :

(1) Semantic Memory

(2) Sensory Register

(3) Procedural Memory

(4) Episodic Memory

Which of the following is rot true about

dramatic play ?

(1) Itis aform of active play.

(2) Itis known as make believe play.
(3) Itinvolve overt behaviour.

(4) Itis always reproductive.



23.

24.

25.

26.

fepdl argfkar &1 TRl Bl T & o
el ol SEiu & T A R E

(1) HHRHE e

(2) THRTHF YA
(3) &8
“4) I

7 FHY B Afrde,  dEr gl
SRR 1 Uh SEE-AE 8, Sk
% e 4 Freiied § @ R6e gfteshior
qaraq @ ¢ 7

(1) HIBRATE! SReHT Hi

(2) GLEAEED gReehT &l

(3) TPl ftedhr i

(4) HSER! 3T S

e O B B Gle-dee & adl g,
d9 ®X FH Gl ot IoK ol &g &l
ST 2| I8 ISET ©

(1) HHRHE GA Hl

(2) BRI YAeeH H
(3) HHRHE & A
(4) THRHE ES H

7 WM OEfed 9 9ad’ U
JEEA ¥

(1) WfEhaTHS 5 F

(2) 9NUTHE T B

(3) T SE H

(4) E fabe T2 TE 2

Level-2/3204

[9]

23.

24.

25.

26.

[A]

Presentation of an unpleasent stimulus
to decrease the occurrence of a response

is known as :

(1) Positive Reinforcement
(2) Negative Reinforcement
(3) Punishment

(4) Motivator

The statement 'Personality is nothing
but a set of learned responses', best
describes which of the following view

about personality ?

(1) Behaviouristic view
(2) Structuralist view
(3) Functionalist view

(4) Cognitivist view

The seat belt buzzer of a car, stops as
soon as the driver put on the seat belt. It

is an example of :

(1) Positive Reinforcement
(2) Negative Reinforcement
(3) Positive Punishment

(4) Negative Punishment

Knowing 'how to ride a bicycle' is an

example of :

(1) Procedural knowledge
(2) Declarative knowledge
(3) Explicit knowledge

(4) No option is correct

P.T.O.
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27.

28.

29.

30.

fepreerd & SRM o1 & X & fae
% W Ued el 5| a8 famm @
-4 Tgf @ daran A §

(1) % ¥ 96X & 3N

2) X a8 W #H R

(3) FET

(4) THHT

g d Od & daw § fAifeq § @
HH-AT FIT T TF@ & °

(1) To-fheti & de g ed @
|1 FH B A B |

(2) 9g WG4 & WYY YA e
HEIT B ST 2 |

(3) Y T A wieEd Bl g g
T & G Fedl S 8 |

(4) g T4 & AT TG @ AFE
7§ IUYH & S 8|

AT/ Teel STerT U YR ©
(1) T HETHAT BT

(2) STEETH SFeTHT I

(3) s AT B

(4) gfte e &

feiferd & & fpe gfeshior & g8 Hrgar
2 6 9 fowm o wqq g 7@ o 7

(1) s &1 gsreees 9 &1 s
(2) FIBETE

(3) TR A Rara
(4) TRffaeE dF e

[10]

27.

28.

29.

30.

During the developmental period of
foetus' head is well developed before his
legs. This best describes which of the
following tendency of development ?

(1) Proximo-distal
(2) Cephalo-caudal
(3) Uniformity
(4) Integration

Which of the following is not true about
children's play ?

(1) The number of play activities
decrease with increasing age.

(2) Play becomes increasingly social
with increasing age.

(3) The number of playmates increases
with increasing age.

(4) Play become

increasingly sex-

appropriate with increasing age.

Dyscalculia' is a type of :
(1) Locomotor Disability
(2) Learning Disability

(3) Intellectual Disability

(4) Visual Impairment

Which of the following theory assumes
that
continuous process ?

ey

Child Development is not a

Cognitive Development theory of
Piaget

(2) Behaviourism
3)

4

Social learning theory

Ecological system theory

Level-2/3204
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[A]

HRT — 11/ PART - Il
A (R= ©d $i3sh) / LANGUAGES (HINDI & ENGLISH)

[ &=/ HINDI ]

3T : =it ged] & 37 @7 % [ qe98 ST [weT g

32.

33.

34.

‘Fhgs’ a= | |y ®
(1) @< 9 (2) UM Hfr
(3) foeet =y (4) <o Hiy

e gite 8 g fahed g
(1) fergar (2) dioten
(3) ferTeT (4) @

fopg are H geE Uesd & OSERT gl

g7

(1) W e § 9 @2 999 W T8
TedT |

2) Redl 4 @d 2@ ard gar |ie
Tl T TeaH |

(3) T F d@m & TEEN, V-
TGOT Hl HX STl |

(4) dredl |t & fr, W T2 Qo
EEUREIN

g arm d ‘gemel gRv @ TN geM

g7

(1) 299X FRI Al &1 |

(2) 9T TE YHXOT i ST |

(3) @ & 39 a9 gg au &

(4) I I8 gear ar AT 9% 1 S |

Level-2/3204

35.

36.

37.

P A H A AL @ S
g & 7

(1) 9 &9 T T 7B F2l © |
(2) S AR @1 & IW =X GRAAl |
(3) TH BRI & fow B f6ad o e
(4) BB T B, FB H H&T

‘qe TR foEar @Il ae d ugE
fopa fqQITer 1 9% 2R T

(1) hreareen fpar fasor

(2) e foham fLroor

(3) TATE fopar fasier

(4) gRHTErEE R faeer
STGIT HIT Bife -

(1) 96 % q &l I awcll HJAo —
&

(2) RITET & Ues P qHE — YAiE

(3) 8 [WHE TR @ & U -
AEH

(4) SIRT TR TG — el

P.T.O.



[A]

38.

39.

40.

41,

ogE A AT

(1) 8 st g5 oAM= & A9
gl |

(2) T@ # #3 9T @ 2|

(3) T8 BEGM &ad BERl & fu 8|

(4) ¥ T 7O L FHTAT AR E |

fora fomea o ageT w9 7@ 7
(1) argEngd
(2) digfe
(3) IUFEA

(4) ey

/9 & 9 59 fodeg § B8’ @1 9T
T ?

(1) s
(2) T
(3) &=
(4) T

g Y ara foeked g
(1) 9% + 39 = Hewd
2) fo=d + 9@ = a9y

(3) dq + IUTd = TR

(4) 9 + AIqH = TSI

Level-2/3204

[12]

42.

43.

44,

45.

dW-qa9a & gfe 4 oo faecd
gﬁﬂ'{:

(1) ardie — S

(2) EHaT — el

(3) TS — AT

(4) v — Al

fope fohca | & TR BT AT 78T gl
g7

(1) |rr

(2) |EIHAT

(3) JTogEr

(4) |y

=1 d @ e g

(1) WHgE & O em@n o 2|

(2) M ER/T HEHI GAE TE |

(3) FA A [ A B |

(4) fFamt B wad #e o TE 2|
= & ‘Hepr o=’ b faee § FEf R 7
(1) fosmoear

(2) S

(3) AT
4) feieB
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[A]

[ 3735 / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

49.

Fill in the blank with appropriate
preposition :

We're going for a drive ........ the
country.

(1) on (2) at

(3) in (4) for

" He wore a turban made of silk."

The underlined words are :
(1) Adverb

(2) Adverb Phrase

(3) Adjective Phrase

(4) Noun Phrase

"There is a mystery about his death and
the police are looking into it."

The underlined phrasal verb means :
(1) To investigate

(2) To take care of

(3) To look behind

(4) To revise quickly

Fill in the blank with appropriate

preposition :

We stayed ................ Mumbai for
five days.

(1) in (2) at

(3) into (4) by

Level-2/3204

50.

51.

52.

53.

54.

Hearing the noise, the boy woke up :
(2) Noun
(4) Participle

(1) Pronoun
(3) Verb

"They arrived soon after."
The word 'after' is used as :
(1) Preposition  (2) Adverb

(3) Adjective (4) Conjunction

Fill in the blank with appropriate

conjunction :

Grievances cannot be redressed
................ they are known.

(1) unless (2) and

(3) but (4) before

Choose the most appropriate modal for
the blank :

When I was young, I

................

climb any tree in the forest.
(1) can (2) must

(3) may (4) could

Choose the correct verb for the blank
from the options below :

The earth ................ round the sun.
(1) move (2) moved
(3) moves (4) shall move

P.T.O.



[A]

55.

56.

57.

Choose the correct answer from the

options below :

"I took it home with me", She said.
(1
(2)

She just took it home.

She said she had taken it home with

her.

She said she would take it home.

3)
“4)

She said she will take it home with

her.

Choose the correct passive construction

for the given sentence.
They were carrying the injured player

off the field.

(1) The injured player
carried off the field.

was being

(2) The injured player will be carried
off the field.

(3) The injured player must be taken
off the field.

(4) Carry the injured player off the
field.

Fill in the blank by choosing the correct
option :

Heis ....coouenene. his glasses.

(1) look for

(2) look

(3) looking for

(4) will look

[14]

58. Choose the correct word for

following expression :

One who makes maps or charts.
(1) Cartoonist
(2) Cartographer
(3) Choreographer
(4) Choirmaster

59.
option :

I have not heard the

.........

news.

(1) latest
(2) late
(3) latter

(4) later

60. Choose

correctly :

the word which 1is

(1) Disentigration
(2) Disintegration
(3) Dissintegration

(4) Desintegration

the

Fill in the blank with the correct

.......

spelt

Level-2/3204
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[A]

HET -1/ PART -1l
qHE 31991 / GENERAL STUDIES

[ AT qRgdT, dliche AT ol €M 319 U9 S1FsTM / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

A@sr : =i god] % Gav @7 & [T qae S [ g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

o frdl ®E @ 2 R # war ® oI
fig 28 6 &9 & &war 21 3 et
fre el ® 39 & @ e ?

(1) 2/3 &&F

(2) 32 &9

(3) 5/3 f&q

4) 3 &9

20 U/ T 25 T % g 324 o T,
e a2 71 8, @ 20 T8 % I
for frs 2 7
(1) 124
(3) 200

(2) 140
4) 210

A & EEEel § e 6 U 2 R
Yo% & 3% Ued 1 I 5 A B Ul
3t a1E § 3791 9 A Bl 7

263756429613416391569231654321967

(1) T
Q) &
(3) d
(4) =X

Level-2/3204

61.

62.

63.

Amulya does a piece of work in 2 days
and Bindu does it in 6 days. In how
many days will the two do it together ?

(1) 2/3 days
(2) 3/2 days
(3) 5/3 days

(4) 3 days

A total of 324 coins of 20 paise and 25
paise make a sum of I 71, then number

of 20 paise coins is :
(1) 124 (2) 140
(3) 200 4) 210

How many 6's are there in the following

number series, each of which is

immediately preceded by 1 or 5 and
immediately followed by 3 or 9 ?

263756429613416391569231654321967
(1) One

2) Two

(3) Three

(4) Four

P.T.O.



[A]

64.

65.

66.

67.

i "BORN" &I "APQO" e fFam e
2, "LACK" & "KBBL" %< f&ar s
g, @ "GRID" &I &z fam S :

(1) FSEH (2) SFHE
(3) FSHE (4) FHSE
% fafeaer & &9 wd 9§, oM
T W B A B FdE 80 B

IRl A # dE 200 BN oA g8t
& ge& fha ® 7

(1) 20
3) 52

e
%
(2) 40
4) 60

qEel H HE-A1 99 H W™ TR @
e 8 7

2,14, 16

1) 2,7,8

2) 2,9,16

(3) 3,21,24

4) 4,16,18

FYT -

L 8 Raeel Sfae & |

I & SfFex Tl 2 |

ey

I B S faeel & |re-ar it
a1

IL |+ &ifiae S 2|

A BE e 2l

(1) Faa {7 [ STgaReT &Y 2 |

(2) Faa fTepd 11 STEReT HYa ¢ |

(3) 2t =R 1 11 STET #3 8 |

(4) 7 A& MR 19 & 11 e & & |

Level-2/3204
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64.

65.

66.

67.

If "BORN" is coded as "APQO" and
"LACK" is coded as "KBBL", then
"GRID" will be coded as :

(1) FSEH (2) SFHE
(3) FSHE (4) FHSE
There are deer and peacocks in a zoo.
By counting heads they are 80. The

number of their legs is 200. How many
peacocks are there ?

(1) 20 (2) 40
3) 52 4) 60

Which set of numbers is like the given
set ?

2.14.16
1 2,7,8
2) 2,9, 16
(3) 3,21,24
@) 4,16,18

Statements :

I. All players are doctors.

II. Some doctors are musicians.

Conclusions :

I. Some doctors are players as well as
musicians.

II. All musicians are doctors.

Then which of the following is correct ?

(1) Only conclusion I follows.

(2) Only conclusion II follows.

(3) Both conclusion I and II follow.

(4) Neither conclusion I nor II follows.



68. T '+ FH AT &, X H A -, '+

69.

70.

H AT '+ AT - Foardd X @, ar
16 +8x6-2+12=7

1y 22

) 24

3) 23

@) 120

A, B% T %, C,B#H ACT R, D, C
F UM E, E,DFHI AMIE, & AF DA
T 2

(1) &

(2) AT

(3) @RI/

(4) F=/ATT

=T 2o T ST 92 ST hifeTe
0,5,22,57,116,?

(1) 205
(2) 216
(3) 192

4) 207

Level-2/3204

[17]

68.

69.

70.

[A]
If '+ mean '+, 'X' mean ',

+'" mean '+ and - mean 'X', then

16+8X6-2+12=2
(1) 22
(2) 24
3) 23

4) 120

A is B's sister, C is B's mother, D is C's
father, E is D's mother, then how is A
related to D ?

(1) Daughter
(2) Mother
(3) Grand Mother

(4) Grand Father

Find the next term of the following

series :

0,5,22,57,116,?
(1) 205
2) 216
(3) 192

4) 207

P.T.O.



[A]

71.

72.

73.

74.

o 3% %?WT#U%,ﬁ?sHﬁl6dﬁT
Il R WX f&@r S g, @ 38 gﬂWT
TS B, A OF B A T ©

(1) 247X

(2) 35X

(3) 38X

(4) 42TX

& @9 gy H fawm R @ oden @
it & ?
(1) 0 2) 1
(3) 2

ge B ¥ Bl G G Hio, e
12, 15, 20 3 54 ¥ 9 34 W YIS
Z9M H U% 8 ST 2 :

(1) 504

“4) 3

(2) 540
(3) 546
4) 548
I A H AT B H AT A 40% FH 2

@B & AT A F T F fhaw ufasd
afeep B 7

(1) 25%
(2) 40%

@)33%%

M)66§%

Level-2/3204

[18]

71.

72.

73.

74.

A tank is % part full. If 16 litres of water

is added to the tank, it becomes gpart

full, then total capacity of tank is :
(1) 24 litres
(2) 35 litres
(3) 38 litres

4) 42 litres

What is the number of odd days in a

leap year ?
1 0 2) 1

3) 2 4 3

Find the least number, when divided by
12, 15, 20 and 54, leaves in each case a
remainder of 8 :

(1) 504
(2) 540
(3) 546
(4) 548
If A's income is 40% less than that of B.

How much percent B's income is more
than that of A ?

(1) 25%
(2) 40%

@)33%%

m)66§%



75.

76.

77.

78.

79.

q8 Bl 9 Bl 9@ #q Fie ed
294 ! O FTh ThH YO O qEA SR
ST S 7

(1 3 (2) 4
3) 6 “4) 12
g et 224 2 g O @ am
5°8°9°13 11
w9 T Fafed & oiar 3 @ 9 e
W HH-8 9= 2rf 7
3 4
(1) < () 3
5 6
(3) e (4)17

JoH A g gEned & eled e

1 8 @) 9

1 2
@) 8- ) 8-

ST BT S HITT

(1) EINO

(2) HMQR

(3) KPSU

(4) NSWX

ST AT I BT AT G WS
120 fepsfi/goer & Tfd | T STET A

FR &R 80 fRHI/ATeT &l T & T e
g, @ I T T 4w B 7

(1) 88 fepHi/guer
(2) 92 fepHi/ATe
(3) 96 fepHI e
(4) 100 fpHi/Foer

Level-2/3204

[19]

75.

76.

77.

78.

79.

[A]

Find the least number by which 294
must be multiplied to make it a perfect

square.

(H 3 (2) 4

3) 6 @ 12

If the fractions ggii and 6 are
589 13 11

arranged in ascending order, which one
will be fourth place ?

3
ey < 2)

|o\ O | &~

5
3) 3 “4)

p—
[um—

Find the average of first seven prime

numbers.
(1) 8 2) 9

1 2
3) 87 (4)87

Find out the odd-one :

(1) EINO

(2) HMQR

(3) KPSU

(4) NSWX

Arjun travels half of his journey by train
at the speed of 120 km/hr and rest half

by car at 80 km/hr. What is his average
speed ?

(1) 88 km/hr
(2) 92 km/hr
(3) 96 km/hr
(4) 100 km/hr

P.T.O.



[A]

80.

81.

82.

83.

I 11 g 10 599 § @ig g & g
10 R 11 399 & 99 o &, af &9

gfasrd ®
1) 11% 2) 21%

(3) 25% 4) 28%

g | U 9o @ el W Red
g7

(1) & ¥

(2) AT H

(3) Zgen ¥

4) =iz &

=t Raefedl & @ fres gedl @l
800 Wex e ¥ whiEE @« — 2018 H
WO qge Sfir ?

(1) R sfives
(2) "I e
(3) iUy e
4) TH HAR

BT H1 & SN 9 Hemhi § A
& U9 &5 & STNd HMT S o

(1) =
(2) ST
(3) YFYd
(4) BHEA

Level-2/3204
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80.

81.

82.

83.

If 11 oranges are bought for Rs. 10 and
sold 10 oranges for Rs. 11. What is the

gain in percentage ?
(1) 11% (2) 21%

(3) 25% 4) 28%

Where the Vulture Conservation and

Breeding Center situated ?
(1) Kairu

(2) Morni

(3) Zhabua

(4) Pinjore

Who among the following athletes won
the Gold in Men's 800 m. race at Asian
Games —2018 ?

(1) Jinson Johnson
(2) Manjit Singh

(3) Arpinder Singh
(4) Rakesh Kumar

The area of Haryana, which was
the

influence of Bhadanakas during the Pre-

considered under sphere  of

medieval period :
(1) Rewari
(2) Ambala
(3) Panipat
(4) Kurukshetra



84.

85.

86.

el JReER & a) § e we
T fo=R I

(a) Seq farar § deRd @ |

(b) I T2 H AR FIF & geH
Afeae™ H AT o |

SUYHE § § DE-A/ERA-4 FH T o
g7

(1) Bad (a) TF 2|

(2) Fad (b) dT 2|

3) T (@A T & (b)dd

(4) I (a) &R (b) T F |

e Adar R 199 Al & aRe
IEE & oMY ¥ FRYGR fRar -

(1) g™ ST
(2) T @
(3) qIR=% K|
(4) TN @
frfiiad sl gAfed ST
A= B fora
A. 3o Mo &Ro o (i) e
B. 3Eo 3o WHo (i) GG
C. To ¥Eo o (iii) GrRET
D. TJo 3Bo Who Tlo  (iv) FHH&A
el e g
A B C D
(H G @ (i) (v)
2 G @ (v (i)
3 Gy @ (i) (D)
4) O G i) (v)
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84.

85.

86.

[A]
Consider the following statements about
Lala Murlidhar :
(a) He practiced Law at Ambala.

(b) He attended the first session of
Congress held at Bombay.

Which of the above statement/statements

is/are true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.
(4) Both (a) and (b) are true.

The Wahabi leader, who was arrested in

charge of Sedition during 19th
century :
(1) Muhammad Zafar
(2) Ghazzan Khan
(3) Mubarak Ali
(4) Salman Khan
Match the following :
Education Institute District
A. LLLT. (i) Rohtak
B. I.I. M. (i1) Sonipat
C. N.L.D. (iii) Punchkula
D. N.LF.T. (iv) Kurukshetra

Choose the correct code :
A B C D

I a @ ) Gv)

2 @ O Gy (1)

@ Gy @O @) @G

“4) ®» @ @) (1)
P.T.O.



[A]

87.

88.

89.

90.

Foe o # fohae a=etig ot 2 7

(1) &

(2) =
(3) T
(4) 9

frefofeg & @ #9-9 a0 & 999 39
e SNEE 7

(1) wam
(2) Ae=TE
(3) Sifg
(4) fergar

3 ug §f Y 5 $ aR H et

FoE W o= i

(a) IE ‘I UNGRT TRHEd’ & w9 A
off T ST R

(b) 3 g 4 TFPE M W UE T
el 1 g oA SR |

S § O BE-A/AE- FE T
7

(1) #ad (a) T4 2|

(2) B9 (b) TA |

(3) T @ (a) AX T & (b) TH 5|

(4) 3N (a) 3R (b) T £ |

i & fpe dedia §

(1 71 (2) 93

3) 76 4) 68

[22]

87.

88.

89.

90.

How many Wildlife Sanctuaries are

there in Jhajjar district ?
(I) Two

(2) Three

(3) One

(4) Four

Which of the following districts has the

lowest urban population ?
(1) Mewat

(2) Mahendragarh

(3) Jind

(4) Sirsa

Consider the following statements about
KMP Expressway :
(a) It is

Peripheral Expressway.

also known as Western

(b) Five new cities will be developed

along with the KMP Expressway.

Which of the above statement/s is/are

true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.

How many Tahsils are there in Haryana ?
(1) 71 (2) 93

3) 76 4) 68

Level-2/3204



[23] [A]
AN - IV / PART - IV
Y& / SANSKRIT
fdsr : [ gedl & Gav 37 % [ @9 S [AweT i

91. T HHileT GeH =T - 30 W gHRE 94. TIY P: Fia: ‘SRR IR A ?
FAMSRA -
(1) 9 (2) T
(1) oo
(3) HAnfa: 4) U=
(2) F=IFIE e
95. A H: I ‘FHATIHIS A B -
(3) TAHEE gwre R
(1) THEY (2) HETHRd
@) g (3) 9= (4) gdsl
92. UFASHE HIE: UHfET - HE

. T 7 96. 9 UM AR IH-§EY - FEIE

fh =q g ?
(1) i~ (1) I

(2) STCTSIHIE
(2) T<ed

(3) STIH:
(3) frEem: (4) @Eg:
(4) SATH 97. FEE: FHH  GITERET:  oNE:

HAf 7

93. TEHCHE FHEAW Fad -

(1) TeemeH
1 2 -
(1) ST (2) eHH o o
(3) o (4) GHIRT: (3) g=rErEH

(4) gETEITH

Level-2/3204 P.T.O.



[A]

98.

99.

100.

101.

Uy o A Iy dfd b wU et ?
(1) Ter: (2) THH:
(3) UHH: (4) TlemE:
Ty ey dRTAuEN AChAR -
(1) avfrEer:

(2) T

(3) fespHEsiag

(4) gEHeHy

‘Aerdaiey - wadfer  ferfEd s

e MR ae= b Ry -
(1) :
(2) P&

(3) BFA
(4) 4

T 3 TR T, Y | -
(1) 1= ) e

(3) oF: (4) T
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102.

103.

104.

105.

Uy ‘el FeATTeuy, AYSIaThedH i ?
(1) gz, e, 3fen

(2) fec, dien, e

(3) g, Higdl, SeEr

(4) i, S, P

ATERE I WE: - dE g
JEETHE -

(1) g

(2) fsa:

(3) Afafa:

(4) Ga:
Fifrer faQeel w1 399 aqq ?
(1) =9 (2) IEITH

(3) faom: (4) 37

L AEE AR Uy e agaed
w0 0] -
(1) =reEme (2) @RI

(3) FRPEEE (4) =R



106.

107.

108.

109.

I S 98 F: A1 ddd
(1) =i 2 &

(3) w17 (4) 54
A q= JAEE: SR -
(1) ar=m

(2) aren

(3) @

4) a9

‘M TEAR RSt ' aq”
T ‘A’ e o gead ?

(1) vEarayg
(2) @REY
(3) STERHF

(4) SFSTEREY

SRy e w

e gUERdaE: ARg ?
(1) Ty (2) FA=H

(3) TEHIP: (4) FEEY:

Level-2/3204
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110.

111.

112.

113.

[A]
o o e W Sl g
dferiRay FYfeEsd FERA -
(1) #4
(2) &MY

(3) I

(4) S

TAY 73] A ARy HRA el T
I gt 7 i ?

(1) qa™:, AE:, A
(2) a4, 9qT9:, HII:
(3) Ue:, BE:, d:

(4) e, 9, H:

AIEIEr fqaee i Fen @i ?

(1) et (2) o=

() ¥« 4) 9

AIRAE FEE TR -

e

(1) @ &fe: (2) A Fefe:

(3) A AR (4) AW
P.T.O.



[A]

114.

115.

116.

117.

‘IR =GR A -

(1) 4 = gai weia

(2) | HoEdh T JeBfd

(3) ©: 3gad 9 g

(4) Sa foebr g

T gaRe 98 IR A -
(1) T (2) AFF:

(3) TEHEE: (4) 7w

T STEA faehed foreag -

(1) o g ey T " g T A
q9: - IAHERTH

(2) HISIE MAT - FeBHCH]

(3) Y& SEHMI a1 Heheqgaeiad
G EIREIEAN L

(4) WERE: Ughcdl faior:

- fargrareraey
R + T - 3 AR -
(1) &R = 2) &

(3) BR=: (4) ==
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118.

119.

120.

121.

‘TAREARA Pl G A ?
1) 9«
(3) o1

(2) §ug

(4) Upresr:

AYE T forag -
(1) wf=ihear
(2) HAIE:

(3) HAIHE

(4) Tguew:

o9 g4 gHdl d9n: AT qid: |
fereige? HBgguie a1

T DI STABIR: 7

(1) 39

(2) HrHEIE:
(3) 2w

(4) Tras

‘qeea:’ 3Aaq © B G g -
(1) esiIsfe

(2) A BISHUTEM

3) & &R Faol

(4) ST B



[27] [A]

122, ‘HAEHR SR 98 & qEE: 7 126. ‘B HEASREEG” TqE A
IR | e -
(1) sedtfe: Rk
Q) = (1) qa: 994:
(3) SrlivE: (2) STdrTdRAST FHHT
(4) TgEH: (3) Sifrepg: weper:
(4) STEAIIN
123, g AR ?
(1) 7@ for g 127. ‘TR W BT Uq FEAEE - O
(2) T W TR CESICE R 2R
3 [CEISRHECIES|
(3) IHE A | 0
(4) TH: P A |
(2) AR
124, ‘GueTEvSERER I @A god -
(3) A
(1) ey
(2) 9 (4) e
(3) w: 128, FEETEASEAT . EETeEE.
(4) e Ty 1 e et -
125. ‘Tl T, HEAA LCIRE Y ORESE
wiEERTTEEEE e 9
I SABIR: ? (2) Gl

3) UM (4) T9RY
3) 4) ;| @ o

Level-2/3204 P.T.O.




[A] [28]

129. 2R WH ¥ WH FET Bl I 132. ‘o€ o 98 oW’ 30 dHHareHi -

AR ? M s e - (1) s et 3% o
IR UESIEEIESE (2) =41 e deTeruga
(2) ferafest (3) e et A% e

4) = M de: gy
(3) HRRI

133, d09: 3T 98 g oiRd 7

(4) ierit (1) = @)

. (3) =% 4) =g
130. ‘Fase MR 3@ ERERE A -

134, ‘T AN GMHOE” HUAIGERT B

1 g g
) 7 N g4: gl Eed itk ?
(2) ety Ty (&t Ferarg (1) fer:
(3) g Fom g () I
(3) TS
(4) qHg: I
i (4) ST

131, F=feiady oy SSegeer: aum: =ae: -

135. SRR YoFTSTa Tg TR,

eI HHATAA ARHEATRT,
2) 4, %, d3a ' '
- g faw] Haweel qaqrbaET ||
3) 9, 8 & el St o = ?

(1) Heemhr (2) frafel

4) U, 9,9, 8 (3) et (4) T
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136.

137.

138.

139.

Al SIS PR -
(1) T&i: (2) THS:
(3) arls: 4) fage:

O @M YOS - U iR g
HEGEYT AR ?

(1) #HUMEg

(2) FeMERAYE

(3) FEARTIHITE

(4) ggAITE

ARG ATHE qUi T Hel wa ?
(1) g

(2) gt

(3) FEERET

(4) TEHT

IO S & &5 Haid ?
(1) SRS

(2) IYRUAGET

(3) TEERHsT

(4) SrgawRg=T
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140.

141.

142.

143.

[A]

HAYE aTFHRT -

(1) HeTE: B 999 YeBid |
(2) T SIS AT % |

(3) AN T Ul Hegey: |
(4) STYA! STHTHILATE: |

TR gomt ?
(1) gras< @

@) FFE=

(3) e @
@) oS f
TEIEE F T

(1) g

(2) SR
(3) TuivEg
(4) 9dT:

Bad: fug: facel T o Hge i -
(1) w1 FFER

(2) T I AET AGAETH

(3) Faga fEiReH

4) Tt 9

P.T.O.



[A]

144. Q91 deduiter
B hdEd |
ERREURGECINEGIEIN
T fagar we=l 9 = Haga: 1|

b Bad: JeleXUHA] -

(1) dere:

(2) gafdaieay
(3) IUSA:

(4) gfoaamT

145. GERSYAT 300 HEgsHRA -
(1) TS Yared
(2) U TEH
(3) SreheAlfey Uy areEq
(4) ST

146. ‘Hd STAQ’ HEAGUEE qrEd ?

[30]

147.

148.

149.

150.

Uy A TR -

(1) FATEHR - U8

(2) STEHRTIE - HF:

(3) T - I

(4) AfFIqa®s - AleHwE:

‘i< & 9 qom F aegie’ T g
B 4 A 7

(1) frgarerae
(2) FFeETga
(3) AR
(4) WEeEEaEd

QR auiHl Ha SRR
afe ?
(1) T

(3) @A

(2) I
(4) o1

Uy HE U AR AREANE: |
afe ?
(1) FHRE (2) HRE

(3) IR (4) T
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6.

Ul b SR, SR UFh A HUiRd @™ Bl dret /N
dfd wrge 9 ¥ giaar AT g, o fs A e

TR
O @ ® @

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black/Blue ball point pen
as shown below :

© @& © ®

The answer will be treated wrong, if it is marked, as given below :

O ® & >

If you fill more than one circle it will be treated as a wrong
answer.

ERT T T3 SR Tad AT SO, Ife SR dTel
@ﬁaﬁﬁﬂwﬁmﬁ%

O R & @
I T A ST Wl Bl MR T & Al 3BT SR Tod
HET ST |

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LIS T @ forg R U AR Reedt 3 9 Sfd fdwen & folg OMR STR 99@ &R &ad Ud gd & & g4 aRE el / Blet

dfcl Wrse 9 9 W TP IR IR 3ifhd P B 9IS S ISl T8l S Fbal B | (Out of the four alternatives for each
question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not allowed to be changed.)

el gHARad o {6 59 SR 45d B Aiel 9 WY Td I R BIg 31 e 7 M | 3ngedi =1 el SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

TA—YRATHT /IR U5F H f3Q T HHIG BT el el da F gwdeR aic H fod | (The candidates will write the correct

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

gl B URIET B/ BeT H YA UF AR UgAM U & SfIRE Bl THR B qreadEd, gfad a1 sxifoiad drTel 3
Ufedf, SR, AaIgd WH, Sdgiid UG AT B 3 UBR B GEEH DI of S IT STANT HRA DI AT 8T © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PRIRT GAdETH BT AU IR UAB QU 1 v AR A€ R SEART BIER [Py 97 angefi uden g 7€ v | Ay
el el 1 A IR EWER A1 W BWER el by A1 g AMI SN fh S99 SR U3d 8] dlerl & AR I8
Tfad | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat grr 9 w19 & o &1 feme
wrrmmélw@m%wﬁwwmmmwmﬁﬁw@ﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U IJDT AR SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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